
��$�$��&�����/& ��%& �� ������%��%& 
(� EN>F65FEF6<5 E $57?4<5=F (�%) 2020/878) 

 ALGAR MAX 

�5DE<O 1 �4F4 =4 <74464=5: 28/05/2019 
�5DE<O 4 (74<5EF64 65DE<O 3)  �D57?54 �4F4: 17/01/2023 

CFD4=<F4 1 >F 7 
�4F4 =4 >F?5G4F64=5: 

17/01/2023 

 

 

-�D>4N?6464 =4 E?5464M4F4 EFD4=<F4.- 

$����� 1: ����&�$���&�/ �� ��-�%&��&�/%��%&� � �� 
�$'��%&��&�/�$���$�/&��&�. 

 
1.1 �45=F<D<>4F>D =4 ?D>4G>F4. 
 
�<5 =4 ?D>4G>F4: ALGAR MAX  
UFI:  QH30-N0M4-J00F-XQ97 
 
 
1.2 �45=F<D<F<D4=< G?>FD55< =4 65M5EF6>F> <?< E<5EF4, >><F> E4 >F 7=4G5=<5, < G?>FD55<, >><F> =5 E5 
?D5?>DNG64F. 
 
FERTILIZANTE 
 
�5 E5 ?D5?D>DNG64 E?54=4F4 G?>FD554: 
�D<?>65=<O, D47?<G=< >F ?D5?>DNG4=<F5. 
 
1.3 �>4D>5=< 44==< 74 4>EF46G<>4 =4 <=D>D<4F<>==<O ?<EF 74 557>?4E=>EF. 
 

$<D<4: BRANDT EUROPE S.L. 
�4D5E: Ctra. Carmona - Guadajoz Km 3.1  
�4E5?5=<5: 41410 - Carmona 
�5?4EF: Sevilla 
&5?5D>=: 95 419 62 30 
$4>E: 95 419 62 40 
�-<5=?: Brandt.Europe@Brandt.co 
<D564: www.brandteurope.com 
 
1.4 &5?5D>=5= =><5D ?D< E?5L=< E?GG4<: (34) -  91 562 04 20 (�4 D47?>?>65=<5 24 G4E4) 
 

$����� 2. ���%���� �� ���%��%&�&�. 
 
2.1 �?4E<D<F<D4=5 =4 65M5EF6>F> <?< E<5EF4. 
�D>4G>FNF =5 5 >?4E<D<F<D4= >4F> >?4E5= 6 EN>F65FEF6<5 E $57?4<5=F (�O) 7 1272/2008. 
 
2.2 �?5<5=F< =4 5F<>5F4.  . 
. 
�D5?>DN>< 74 557>?4E=>EF: 

P102  �4 E5 ENED4=O64 <76N= >5E574 =4 45F4. 
P262  �4 E5 <75O764 >>=F4>F E >G<F5, >>64F4 <?< >5?5>?>F>. 
P270  �4 =5 E5 O45, ?<5 <?< ?GL< ?D< G?>FD554 =4 ?D>4G>F4. 
P273  �4 E5 <75O764 <7?GE>4=5 6 >>>?=4F4 ED544. 
 

 
2.3 �DG7< >?4E=>EF<. 
 
%<5EF4 =5 EN4ND64 65M5EF64, >?4E<D<F<D4=< >4F> '��&. 
%<5EF4 =5 EN4ND64 65M5EF64, >?4E<D<F<D4=< >4F> E<?=> GEF>=G<6< < E<?=> 5<>4>G<G?<D4M<. 
%<5EF4 =5 EN4ND64 65M5EF64, G<<F> E6>=EF64 =4DGL464F 5=4>>D<==4F4 E<EF5<4. 
 
� GE?>6<OF4 =4 =>D<4?=4 G?>FD554 < 6 ?ND6>=4G4?=<O E< 6<4, ?D>4G>FNF =5 EN4ND64 =<>4>6< 4DG7< >FD<F4F5?=< 
6N745=EF6<O 6NDEG 74D465F> < >>>?=4F4 ED544. 
 

$����� 3: %.%&��/��$�$��&�/ �� %.%&����&�. 
 
3.1 �5M5EF64. 
�5 5 ?D<?>6<<>. 
 
3.2 %<5E<. 
 



��$�$��&�����/& ��%& �� ������%��%& 
(� EN>F65FEF6<5 E $57?4<5=F (�%) 2020/878) 

 ALGAR MAX 

�5DE<O 1 �4F4 =4 <74464=5: 28/05/2019 
�5DE<O 4 (74<5EF64 65DE<O 3)  �D57?54 �4F4: 17/01/2023 

CFD4=<F4 2 >F 7 
�4F4 =4 >F?5G4F64=5: 

17/01/2023 

 

 

-�D>4N?6464 =4 E?5464M4F4 EFD4=<F4.- 

& &47< E<5E =5 EN4ND64 65M5EF64 E >>=F5=FD4F<O =44 EF>==>EF<F5, GEF4=>65=< 6 �D<?>65=<5 II =4 $57?4<5=F (��) 
1907/2006 < ?>E?5464M< <7<5=5=<O, >><F> ?D54EF46?O64F >?4E=>EF 74 74D465F> <?< >>>?=4F4 ED544, =<F> << 5 
>?D545?5=4 7D4=<F4 =4 5>E?>7<F<O =4 =<6> �6D>?5=E>< ENN7 =4 D45>F=>F> <OEF>, =<F> E4 >?4E<D<F<D4=< >4F> 
'��&/E<?=> GEF>=G<6< < E<?=> 5<>4>G<G?<D4M< 65M5EF64 <?< 6>?NG5=< 6 E?<EN>4 =4 65M5EF64F4 >4=4<44F<. 
    
 

$����� 4: ��$�� �� �.$�� ����-. 
 
4.1 �?<E4=<5 =4 <5D><F5 74 ?ND64 ?><>M. 
�>D44< ENEF464 < 6<44 =4 65M5EF64F4, ?D<ENEF64M< 6 ?D>4G>F4, E?5F<4?=< ?D54G?D5645=<O =5 E4 =5>5E>4<<<. 
 
�D< 64<L64=5. 
If breathing stops, give artificial respiration and seek immediate medical attention. �76545F5 ?>EFD444?<O =4 E656 6N74GE, 
4DN6F5 7> 74F>??5= < 6 ?>>>=, 4>>4<L4=5F> 5 D46=><5D=> <?< 5 ?D5GEF4=>65=>, 44 E5 ?D54?D<5<5 <7>GEF65=> 4<L4=5. 
 
�D< >>=F4>F E >G<F5. 
�4E=5F5 >>=F4>F=<F5 ?5M<, 4>> <<4F5 F4><64 < 4>> 5 ?5E=> 44 7> =4?D46<F5. �D><<64=F5 >5<?=> E G<EF4?DOE=4 6>44 6 
?D>4N?65=<5 =4=-<4?>> 10 <<=GF<, >4F> 4ND6<F5 >?5?4G<F5<7>?NG5=<5 < 44 E5 ?>FNDE< <54<F<=E>4 ?><>M. 
 
�D< >>=F4>F E >>64F4. 
%64?5F5 74<NDE5=<F5 4D5E<. 
 
�D< ?>7?NM4=5. 
�DN6F5 ?>EFD444?<O 6 ?>>>=. ������ =5 E5 ?D54<76<>64 ?>6DNM4=5. 
 
4.2 �4=-ENM5EF65=< >EFD< < =4EFN?64M< E?54 <765EF5= ?5D<>4 >F 6D5<5 E<<?F><< < 5D5>F<. 
�O<4 44==< 74 >EFD< < 745465=< ?>E?54<F< >F <7?474=5F> =4 ?D>4G>F4. 
 
4.3 '>474=<5 74 =5>5E>4<<>EFF4 >F 6EO>4>6< =5>F?>6=< <54<F<=E>< 7D<6< < E?5F<4?=> ?5G5=<5. 
� E?GG4= =4 EN<=5=<5 <?< 4>> E<<?F><<F5 =5 <7G57=4F =5?D5<5==> 44 E5 ?>FNDE< <54<F<=E>4 ?><>M. �5 ?>EF46O=F5 =<M> 
6 GEF4F4 =4 E>D4F4, >><F> E4 6 557EN7=4=<5. 
 
 

$����� 5: �$�&�������$�� ��$��. 
 
  
 
5.1 %D54EF64 74 74E5=5 =4 ?>64D. 
�>4E>4OM< ?>64D>74E<F5?=< ED54EF64: 
�>64D>74E<F5?5= ?D4E <?< CO2. � E?GG4= =4 ?>-E5D<>7=< ?>64D<, GEF>=G<64 =4 4?>>E>? ?O=4 < 6>4=4 EFDGO. 
 
�5?>4E>4OM< ?>64D>74E<F5?=< ED54EF64: 
�4 =5 E5 <7?>?764 74 74E5=5 =4 6>4=4 EFDGO. �D< =4?<G<5 =4 5?5>FD<G5E>> =4?D565=<5, =5 <>65F5 44 <7?>?764F5 6>44 <?< 
?O=4 >4F> ?>G<EF64M 475=F. 
 
5.2 �E>55=< >?4E=>EF<, >><F> ?D><7F<G4F >F 65M5EF6>F> <?< E<5EF4. 
�E>55=< D<E>>65. 
�7?474=5F> =4 7>D5=5 <?< ?D>4G>F< =4 D47?474=5F> <>65 44 5N45 6D54=> 74 74D465F>. 
 
5.3 %N65F< 74 ?>64D=<>4D<F5. 
�E?4644 E5 E 6>44, D575D6>4D<, F<EF5D=< <?< >>=F5==5D<, 6 5?<7>EF 4><7F>G=<F< =4 F>??<=4 <?< >7N=. �><<E?5F5 74 
?>E>>4F4 =4 6OFND4. 
 
�5>DG464=5 74 ?D>F<6>?>64D=4 74M<F4. 
� 746<E<<>EF >F 7>?5<<=4F4 =4 ?>64D <>74F 44 <7<E>64F <7?>?764=5F> =4 74M<F=> >5?5>?> ED5MG F>??<=4, 4<E4F5?=< 
4?4D4F<, DN>46<F<, >G<?4 <?<<4E>4 74 ?<F5 < 5>FGL<. 
 
 

$����� 6: ��$�� �$� ���$���� ���'%����. 
 



��$�$��&�����/& ��%& �� ������%��%& 
(� EN>F65FEF6<5 E $57?4<5=F (�%) 2020/878) 

 ALGAR MAX 

�5DE<O 1 �4F4 =4 <74464=5: 28/05/2019 
�5DE<O 4 (74<5EF64 65DE<O 3)  �D57?54 �4F4: 17/01/2023 

CFD4=<F4 3 >F 7 
�4F4 =4 >F?5G4F64=5: 

17/01/2023 

 

 

-�D>4N?6464 =4 E?5464M4F4 EFD4=<F4.- 

6.1 �<G=< ?D54?47=< <5D><, ?D54?47=< ED54EF64 < ?D>F54GD< ?D< E?5L=< E?GG4<. 
�4 >>=FD>? =4 5>E?>7<F<O < <5D>< 74 ?<G=4 74M<F4, 6<6 D4745? 8. 
 
6.2 �D54?47=< <5D>< 74 >?4764=5 =4 >>>?=4F4 ED544. 
�5 5 >?4E<D<F<D4= >4F> >?4E=> 74 >>>?=4F4 ED544, 74 ?D54>F6D4FO64=5 =4 565=FG4?=>F> <7F<G4=5. 
 
6.3 �5F>4< < <4F5D<4?< 74 >7D4=<G464=5 < ?>G<EF64=5. 
�4?475F5 < EN55D5F5 D47?OF<O <=5DF5= 45E>D5<D4M <4F5D<4? (?>G64, ?OEN>, 65D<<>G?<F, 4<4F><<F=4 75<O < 4D.) < 
=574546=> ?>G<EF5F5 D4=>=4 E ?>4E>4OM >55774D47O64M ?D5?4D4F. 
�5?>=<D4=F5 >F?44NF<F5 6 74F6>D5=< >>=F5==5D<, ?>4E>4OM< 74 <7E6ND?O=5, 6 EN>F65FEF6<5 E <5EF=<F5 < =4F<>=4?=< 
D47?>D545< (6<6F5 D4745? 13). 
 
6.4 �>7>6464=5 =4 4DG7< D4745?<. 
�4 >>=FD>? =4 5>E?>7<F<O < <5D>< 74 ?<G=4 74M<F4, 6<6 D4745? 8. 
�4 44 E5 ?D5<4E=5 >F?44NF<, E?5464=F5 ?D5?>DN><F5 6 F>G>4 13. 
 
 

$����� 7: ��$���&�� � %.%$������. 
 
7.1 �D54?47=< <5D>< 74 557>?4E=4 D45>F4. 
�D>4G>FNF =5 <7<E>64 E?5F<4?=4 >5D45>F>4, =<5 ?D5?>DNG64<5 E?54=<F5 >5M< <5D><: 
�4 ?<G=4 74M<F4, 6<6 D4745? 8. �<>>74 =5 <7?>?764=F5 =4?O74=5 74 <7?D4764=5 =4 >>=F5==5D< =5 E4 44 <74ND64F =4 
=4?O74=5 >>=F5==5D<. 
� >5?4EFF4 =4 ?D<?474=5 FDO564 44 =5 E5 ?GL<, O45 < ?<5. 
%?4764=5 =4 74D46>E?>6=< < 557>?4E=< GE?>6<O =4 FDG4. 
�<=47< ENED4=O64=F5 ?D>4G>F4 6 >?4>>6>< >F ENM<O <4F5D<4? >4F> >D<7<=4?4. 
 
7.2 'E?>6<O 74 557>?4E=> ENED4=O64=5, 6>?NG<F5?=> =5EN6<5EF<<>EF<. 
�D>4G>FNF =5 <7<E>64 E?5F<4?=< <5D>< 74 ENED4=5=<5. 
&N= >4F> GE?>6<OF4 =4 ENED4=5=<5 FDO564 44 <75O764F F>??<=4, D44<4F<O, 5?5>FD<G5EF6> < E5 E6ND65F5 E ED4=4. 
�475F5 >F >>E<4<D4M< 475=F< < E<?=> ><E5?<==< <?< 4?>4?=< <4F5D<4?<. 
%NED4=O64=F5 ?D< F5<?5D4FGD4 <564G 5 < 35 °% 6 EGE> < 4>5D5 ?D>65FD5=>. 
�4 E5 ENED4=O64 E?>D54 <5EF=>F> 74>>=>44F5?EF6>. %?4764=F5 5F<>5F4. 
 
�D>4G>FNF =5 ?>?444 ?>4 6N745=EF6<5F> =4 �<D5>F<64 2012/18/�� (SEVESTO III). 
 
7.3 %?5F<D<G=4(<) >D4==4(<) G?>FD554(<). 
=5 E5 ?D54?474. 
 
 

$����� 8: ���&$�� �� ��%����&�/&�/��'�� �$������� %$��%&��. 
 
8.1 �4D4<5FD< =4 >>=FD>?. 
 
�D>4G>FNF =5 EN4ND64 65M5EF64 E ?D>D5E<>=4?=< 7D4=<G=< EF>==>EF< =4 5>E?>7<F<O 5>E?>7<F<O 6 D45>F=4 ED544 =4 
>>>?=4F4 ED544.�D>4G>FNF =4 EN4ND64 65M5EF64 E 7D4=<G=< EF>==>EF< =4 5<>?>7<G=4 5>E?>7<F<O. 
8.2 �>=FD>? =4 5>E?>7<F<OF4. 
 
�=65=5D=< <5D><: 
  
�>=F5=FD4F<O: 100 % 
'?>FD554: FERTILIZANTE 
�4M<F4 =4 4<E4F5?=<F5 ?NF<M4: 
�>> >F7>64DOF5 =4 ?D5?>DNG64 F5E=<G5E>< <5D>< =5 E5 =G644OF >F ?<G=< ?D54?47=< ED54EF64. 
�4M<F4 =4 DNF5F5: 
�>> ?D>4G>FNF E5 >5D45>F64 ?D46<?=> =O<4 =G644 74 ?<G=< ?D54?47=< ED54EF64. 
�4M<F4 =4 >G<F5: 
�>> ?D>4G>FNF E5 >5D45>F64 ?D46<?=> =O<4 =G644 74 ?<G=< ?D54?47=< ED54EF64. 
�4M<F4 =4 >>64F4: 
PPE: $45>F=< >5G6><  



��$�$��&�����/& ��%& �� ������%��%& 
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 ALGAR MAX 

�5DE<O 1 �4F4 =4 <74464=5: 28/05/2019 
�5DE<O 4 (74<5EF64 65DE<O 3)  �D57?54 �4F4: 17/01/2023 

CFD4=<F4 4 >F 7 
�4F4 =4 >F?5G4F64=5: 

17/01/2023 

 

 

-�D>4N?6464 =4 E?5464M4F4 EFD4=<F4.- 

%4D4>F5D<EF<><: """%�"" �4F57>D<O II." 
CEN EF4=44DF<: EN ISO 13287, EN 20347 

�>44DN6>4: 
&57< ?D54<5F< E5 444?F<D4F >N< D>D<4F4 =4 EFN?4?>F> =4 ?ND6<O ?>FD55<F5?. �>D44< F47< 
?D<G<=4, >4>F> < >F EN>5D465=<O 74 E<7<5=4, <75O764=5 =4 ?>6F>D=4F4 G?>FD554 >F =O>>= 4DG7. 

�><5=F4D<: 
$45>F=< >5G6>< 74 ?D>D5E<>=4?=4 G?>FD554 E4 74M<F4F4, >>OF> 6>?NG64 5?5<5=F<, >><F> 44 
74M<F464F ?>FD55<F5?O >F =4D4=O64=<O, >><F> 5<E4 <>7?< 44 ?D<G<=OF 464D<<, FDO564 44 E5 
>>=EG?F<D4 FDG4>64F4 4>F<6=>EF 74 >>OF> E4 ?>4E>4OM< F57< >5G6><. 

 
 

$����� 9: $���'�� � %���'�� %���%&��. 
 
9.1 �=D>D<4F<O >F=>E=> >E=>6=<F5 D<7<G=< < E<<<G=< E6>=EF64. 
�7D574F=> ENEF>O=<5: F5G=>EF 
&6OF: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
�<D<E: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
�5>=OF5?= ?D47: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
&>G>4 =4 F>?5=5: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
F>G>4 =4 74<DN764=5: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
&>G>4 =4 ><?5=5 <?< =4G4?=4 F>G>4 =4 ><?5=5 < <=F5D64? =4 ><?5=5: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 
5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
�4?4?<<>EF: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
�>?=4 7D4=<F4 =4 5>E??>7<6=>EF: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
7>D=4 7D4=<F4 =4 5>E??>7<6=>EF: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
�?4<=4 F5<?5D4FGD4: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
&5<?5D4FGD4 =4 E4<>74?4?64=5: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
&5<?5D4FGD4 =4 D47?474=5: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
pH: 4,54 
�<=5<4F<G5= 6<E>>7<F5F: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
$47F6>D<<>EF: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
$47F6>D<<>EF 6N6 6>44: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
D47F6>D<<>EF =4 <47=<=<: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
�>5D<F<5=F =4 D47?D545?5=<5 n->>F4=>?/6>44 (?>74D<F<<G=4 EF>==>EF): �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 
5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
�4?O74=5 =4 ?4D<F5: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
45E>?NF=4F4 ??NF=>EF: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
�F=>E<F5?=4 ??NF=>EF: 1,0045 
�F=>E<F5?=4 ??NF=>EF =4 ?4D<F5: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
%4D4>F5D<EF<>< =4 G4EF<F<F5: �5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
 
9.2 �DG74 <=D>D<4F<O. 
�5?D<?>6<<>/�5 E5 ?D54?474 ?>D44< 5EF5EF6>F>/E6>=EF64F4 =4 ?D>4G>F4. 
 
 

$����� 10: %&������%& � $���&����%&. 
 
10.1 $54>F<>==4 E?>E>5=>EF. 
�D>4G>FNF 5 5576D545=, 74M>F> =4 D54>F<6=>EF. 
 
10.2 %<<<G=4 EF45<?=>EF. 
�5EF45<?5= ?D< >>=F4>F E: 
 - �E=>6<. 
 
10.3 �N7<>6=>EF 74 >?4E=< D54>F<<. 
�5GFD4?<74F<O <>65 44 =4EFN?< ?D< >>=F4>F E >=>6<. 
 
10.4 'E?>6<O, >><F> FDO564 44 E5 <75O764F. 
 - �75O764=F5 >>=F4>F E >E=>6<. 
 
10.5 �5EN6<5EF<<< <4F5D<4?<. 
�75O764=F5 E?54=<F5 65M5EF64: 
 - �E=>6<. 
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 ALGAR MAX 

�5DE<O 1 �4F4 =4 <74464=5: 28/05/2019 
�5DE<O 4 (74<5EF64 65DE<O 3)  �D57?54 �4F4: 17/01/2023 

CFD4=<F4 5 >F 7 
�4F4 =4 >F?5G4F64=5: 

17/01/2023 

 

 

-�D>4N?6464 =4 E?5464M4F4 EFD4=<F4.- 

 
10.6 �?4E=< ?D>4G>F< =4 D47?444=5. 
� 746<E<<>EF >F GE?>6<OF4, ?D< >><F> E5 G?>FD55O64, <>65 44 E5 75=5D<D4F E?54=<F5 ?D>4G>F<: 
 - �>D>7<6=< <7?4D5=<O <?< 747>65. 
 
 

$����� 11: &��%�������'�� ��$�$��&�/. 
 
11.1 �=D>D<4F<O 74 >?4E>65F5 =4 >?4E=>EF, >?D545?5=< 6 $57?4<5=F (��) 7 1272/2008. 
�O<4 44==< =4 D47?>?>65=<5 =4 ?D>4G>F4. 
. 
4) >EFD4 F>>E<G=>EF; 
�O<4 G554<F5?=4 <=D>D<4F<O 74 >?4E<D<>4F<O. 
 
5) >>D>7<6=>EF/4D47=5=5 =4 >>64F4; 
�O<4 G554<F5?=4 <=D>D<4F<O 74 >?4E<D<>4F<O. 
 
6) E5D<>7=> G6D5644=5 =4 >G<F5/4D47=5=5 =4 >G<F5; 
�O<4 G554<F5?=4 <=D>D<4F<O 74 >?4E<D<>4F<O. 
 
7) E5=E<5<?<74F<O =4 4<E4F5?=<F5 ?NF<M4 <?< >>64F4; 
�O<4 G554<F5?=4 <=D>D<4F<O 74 >?4E<D<>4F<O. 
 
4) <GF475==>EF =4 74D>4<L=<F5 >?5F><; 
�O<4 G554<F5?=4 <=D>D<4F<O 74 >?4E<D<>4F<O. 
 
5) >4=F5D>75==>EF; 
�O<4 G554<F5?=4 <=D>D<4F<O 74 >?4E<D<>4F<O. 
 
6) D5?D>4G>F<6=4 F>>E<G=>EF; 
�O<4 G554<F5?=4 <=D>D<4F<O 74 >?4E<D<>4F<O. 
 
7) %&�� (E?5F<D<G=4 F>>E<G=>EF 74 >?D545?5=< >D74=<) - 54=>>D4F=4 5>E?>7<F<O; 
�O<4 G554<F5?=4 <=D>D<4F<O 74 >?4E<D<>4F<O. 
 
<) %&�� (E?5F<D<G=4 F>>E<G=>EF 74 >?D545?5=< >D74=<) - ?>6F4DOM4 E5 5>E?>7<F<O; 
�O<4 G554<F5?=4 <=D>D<4F<O 74 >?4E<D<>4F<O. 
 
=) >?4E=>EF ?D< 64<L64=5. 
�O<4 G554<F5?=4 <=D>D<4F<O 74 >?4E<D<>4F<O. 
 
11.2 �=D>D<4F<O 74 4DG7< >?4E=>EF<. 
%6>=EF64, =4DGL464M< DG=>F<<F5 =4 5=4>>D<==4F4 E<EF5<4 
&>7< ?D>4G>F =5 EN4ND64 >><?>=5=F< E =4DGL464M< 5=4>>D<==4F4 E<EF5<4 E6>=EF64, >><F> 6N745=EF64F 6NDEG G>65L>>F> 
74D465. 
�DG74 <=D>D<4F<O 
�O<4 =4?<G=4 <=D>D<4F<O 74 4DG7< =55?47>?D<OF=< ?>E?54<F< 74 74D465F>. 
 
 

$����� 12: �������'�� ��$�$��&�/. 
 
12.1 &>>E<G=>EF. 
�O<4 =4?<G=4 <=D>D<4F<O 74 5>>F>>E<G=>EFF4 =4 65M5EF64F4. 
  
12.2 'EF>=G<6>EF < D477D44<<>EF. 
�O<4 =4?<G=4 <=D>D<4F<O 74 5<>D477D44<<>EF =4 ENM5EF6G64M<F5 65M5EF64. 
�O<4 =4?<G=4 <=D>D<4F<O 74 D477D44<<>EF =4 ENM5EF6G64M<F5 65M5EF64. 
�O<4 =4?<G=4 <=D>D<4F<O 74 GEF>=G<6>EFF4 < D477D4644=5 =4 ?D>4G>F4. 
 
12.3 �<>4>G<G?<D4M4 E?>E>5=>EF. 
�O<4 =4?<G=4 <=D>D<4F<O 74 5<>4>G<G?4F<O =4 65M5EF64. 



��$�$��&�����/& ��%& �� ������%��%& 
(� EN>F65FEF6<5 E $57?4<5=F (�%) 2020/878) 

 ALGAR MAX 

�5DE<O 1 �4F4 =4 <74464=5: 28/05/2019 
�5DE<O 4 (74<5EF64 65DE<O 3)  �D57?54 �4F4: 17/01/2023 

CFD4=<F4 6 >F 7 
�4F4 =4 >F?5G4F64=5: 

17/01/2023 

 

 

-�D>4N?6464 =4 E?5464M4F4 EFD4=<F4.- 

 
12.4 �D5=>E<<>EF 6 ?>G64F4. 
�O<4 =4?<G=4 <=D>D<4F<O >F=>E=> <>5<?=>EFF4 6 ?>G64F4. 
�4 =5 E5 4>?GE>4 44 ?>?44=5 6 >4=4?<74F<OF4 <?< 6>4><7F>G=<F<. 
�D54>F6D4FO64=5 =4 74<NDEO64=5 =4 75<OF4. 
 
12.5 $57G?F4F< >F >F5=>4F4 =4 PBT < vPvB. 
�O<4 =4?<G=4 <=D>D<4F<O 74 PBT < vPvB =4 ?D>4G>F4. 
 
12.6 %6>=EF64, =4DGL464M< DG=>F<<F5 =4 5=4>>D<==4F4 E<EF5<4. 
&>7< ?D>4G>F =5 EN4ND64 >><?>=5=F< E =4DGL464M< 5=4>>D<==4F4 E<EF5<4 E6>=EF64, >><F> >>4764F 6?<O=<5 6NDEG 
>>>?=4F4 ED544. 
 
12.7 �DG7< =55?47>?D<OF=< 5D5>F<. 
�<>>O 4DG74 <=D>D<4F<O 5 =4 D47?>?>65=<5 =4 =55?47>?D<OF=< 5D5>F< 6NDEG >>>?=4F4 ED544. 
 
 

$����� 13: �����$������ �� �&���.&�&�. 
 
13.1 �5F>4< 74 FD5F<D4=5 =4 >F?44NF<. 
�4 =5 E5 4>?GE>4 6 >4=4?<74F<OF4 <?< 6N6 6>4>5<<. �F?44NF<F5 < ?D47=<F5 >?4>>6>< FDO564 44 E5 D45>F< < 44 E5 
<7E6ND?OF 6 EN>F65FEF6<5 E <5EF=<F5 / =4F<>=4?=< D47?>D545<. 
%?5464=F5 D47?>D545<F5 =4 �<D5>F<64 2008/98/�� >F=>E=> G?D46?5=<5F> =4 >F?44NF<F5. 
 
 
 

$����� 14: ��$�$��&�/ �&��%�� &$��%��$&�$���&�. 
 
�5 5 >?4E5= F>64D. � E?GG4= =4 7?>?>?G>4 < <7E6ND?O=5 =4 ?D>4G>F4 44 45=EF64 >4F> F>G>4 6. 
 
14.1 �><5D ?> E?<EN>4 =4 ��� <?< <45=F<D<>4F<>=5= =><5D. 
�5 5 >?4E5= F>64D. 
 
14.2 &>G=> =4 =4<<5=>64=<5 =4 ?D4F>4F4 ?> E?<EN>4 =4 ���. 
�?<E4=<5: 
ADR/RID: �5 5 >?4E5= F>64D. 
IMDG: �5 5 >?4E5= F>64D. 
ICAO/IATA: �5 5 >?4E5= F>64D. 
 
14.3 �?4E(>65) =4 >?4E=>EF ?D< FD4=E?>DF<D4=5. 
�5 5 >?4E5= F>64D. 
 
14.4 �?4>>6NG=4 7DG?4. 
�5 5 >?4E5= F>64D. 
 
14.5 �?4E=>EF< 74 >>>?=4F4 ED544. 
�5 5 >?4E5= F>64D. 
 &D4=E?>DF E >>D45 E?GG4< - �D>7D4<4 74 45=EF6<O ?D< <76N=D54=< (F - Fire, S -$47?<6<).:  �5 5 ?D<?>6<<>. 
 
14.6 %?5F<4?=< ?D54?47=< <5D>< 74 ?>FD55<F5?<F5. 
�5 5 >?4E5= F>64D. 
 
14.7 �>DE>< FD4=E?>DF =4 F>64D< 6 =4E<?=> ENEF>O=<5 EN7?4E=> <=EFDG<5=F< =4 �564G=4D>4=4F4 <>DE>4 
>D74=<74F<O. 
�5 5 >?4E5= F>64D. 

 

$����� 15: ��$�$��&�/ �&��%�� ��$��&����&� '$����. 
 
15.1 %?5F<D<G=< 74 65M5EF6>F> <?< E<5EF4 =>D<4F<6=4 GD5454/74>>=>44F5?EF6> >F=>E=> 557>?4E=>EFF4, 
74D465F> < >>>?=4F4 ED544. 



��$�$��&�����/& ��%& �� ������%��%& 
(� EN>F65FEF6<5 E $57?4<5=F (�%) 2020/878) 

 ALGAR MAX 

�5DE<O 1 �4F4 =4 <74464=5: 28/05/2019 
�5DE<O 4 (74<5EF64 65DE<O 3)  �D57?54 �4F4: 17/01/2023 

CFD4=<F4 7 >F 7 
�4F4 =4 >F?5G4F64=5: 

17/01/2023 

 

 

-�D4= =4 <=D>D<4F<>==<O ?<EF 74 557>?4E=>EF.- 

�D>4G>FNF =5 5 74E57=4F >F $57?4<5=F (��) 7 1005/2009 =4 �6D>?5=E><O ?4D?4<5=F < =4 %N65F4 >F 16 E5?F5<6D< 2009 
7>4<=4 >F=>E=> 65M5EF64, >><F> =4DGL464F >7>=>6<O E?>=. 
 
 
�?4E<D<>4F<O =4 ?D>4G>F4 EN7?4E=> �=5>E 1 =4 �<D5>F<64 2012/18/�� (SEVESO III): N/A 
�D>4G>FNF =5 ?>?444 ?>4 6N745=EF6<5F> =4 �4D5454 =4 �� 7 528/2012, FD5F<D4M4 ?474D=>F> D47?D>EFD4=5=<5 < 
G?>FD554 =4 5<>?>7<G=< ?D>4G>F<. 
�D>4G>FNF =5 ?>?444 ?>4 6N745=EF6<5F> =4 ?D>F54GD4F4, GEF4=>65=4 6 �4D5454 =4 �� 7 649/2012, FD5F<D4M4 6=>E4 < 
<7=>E4 =4 >?4E=< E<<<>4?<. 
 
 
15.2 �F5=>4 =4 557>?4E=>EFF4 =4 E<<<G=> 65M5EF6> <?< E<5E. 
�5 5 <76NDL5=4 >F5=>4 =4 E<<<G5E>4F4 557>?4E=>EF =4 ?D>4G>F4. 
 
 

$����� 16: �$'�� ��$�$��&�/. 
 
 
�?4E<D<F<D4=5 < ?D>F54GD4, <7?>?764=4 74 ?>?GG464=5 =4 >?4E<D<>4F<OF4 74 E<5E< EN7?4E=> $57?4<5=F 
(��) 7 1272/2008 [CLP]: 
$<7<G=< >?4E=>EF<  �4 5474 =4 44==< >F <7?<F64=<O 
�?4E=>EF< 74 74D465F>  �7G<E?<F5?5= <5F>4 
�?4E=>EF< 74 >>>?=4F4 ED544 �7G<E?<F5?5= <5F>4 
 
 
 
�7<5=5=<O E?DO<> ?D54<L=4F4 65DE<O: 
 
 - �D><5=< 6 <=D>D<4F<OF4 74 4>EF46G<>4 ($����� 1.3). 
 - �7<5=5=<5 =4 E?5F<D<G=<F5 >?4E=>EF< ($����� 2.3). 
 - �7<5=5=<O 6 <5D><F5 74 >>4764=5 =4 ?ND64 ?><>M ($����� 4.1). 
 - �7<5=5=<O 6 ?D>F<6>?>64D=<F5 <5D>< ($����� 5.2). 
 - �7<5=5=<O 6 <5D><F5 ?D< 464D<==> <7?GE>4=5 ($����� 6.1). 
 - �7<5=5=<5 6 EF>==>EF<F5 =4 D<7<>>-E<<<G=<F5 E6>=EF64 ($����� 9). 
 - �D><O=4 6 >?4E<D<>4F<OF4 =4 >?4E=>EF ($����� 11.1). 
 - �7<5=5=<5 6 >?4E<D<>4F<OF4 EN7?4E=> �4D545<F5 74 ?D56>7 =4 >?4E=< F>64D< (ADR/IMDG/ICAO/IATA/RID) ($����� 14). 
 
�<5 ?D5?>DNG64<5 44 <7?>?764F5 ?D>4G>F4 54<=EF65=> 74 ?D546<45=4F4 G?>FD554. 
 
 
�7?>?764=< EN>D4M5=<O < 4>D>=<<<: 
CEN: �6D>?5=E>< >><<F5F ?> EF4=44DF<74F<O. 
PPE: �<G=< ?D54?47=< ED54EF64. 
 
�E=>6=< ?D5?D4F>< ?<F5D4FGD4 < <7F>G=<F< =4 44==<: 
http://eur-lex.europa.eu/homepage.html 
http://echa.europa.eu/ 
$57?4<5=F (�%) 2020/878. 
$57?4<5=F (��) 7 1907/2006. 
$57?4<5=F (�O) 7 1272/2008. 
 
�=D>D<4F<OF4, ?D54>EF465=4 6 F>7< �=D>D<4F<>=5= ?<EF 74 557>?4E=>EF 5 <77>F65= 6 EN>F65FEF6<5 E $�������& (�%) 
2020/878 �� ����%�/&� >F >F 18 N=< 2020 74 <7<5=5=<5 =4 ?D<?>65=<5 II >N<  $57?4<5=F (��) 7 1907/2006 =4 
�6D>?5=E><O ?4D?4<5=F < =4 %N65F4 >F=>E=> D57<EFD4F<OF4, >F5=>4F4, D47D5L464=5F> < >7D4=<G464=5F>  =4 E<<<G=< 
65M5EF64 < E<5E< (REACH). 

 

�=D>D<4F<OF4 6 F>7< �=D>D<4F<>=5= ?<EF 74 557>?4E=>EF 74 ?>47>F>6>4 E5 >E=>6464 =4 F5>GM<F5 ?>7=4=<O < =4 
45=EF64M<F5 74>>=>44F5?EF6>F> =4 �% <=4F<>=4?=>, 6 >><F> GE?>6<OF4 =4 FDG4 =4 ?>FD55<F5?<F5 E4 <76N= =4L<O 
>>=FD>? < 7=4=<5. �D>4G>FNF =5 FDO564 44 E5 <7?>?764 74 F5?<, D47?<G=< >F ?>E>G5=<F5, 557 44 E4 ?>?GG5=< ?<E<5=< 
<=EFDG>F<< D45>F4. &>= 6<=47< 5>F7>6>D=>EF =4 ?>FD55<F5?O 5 44 ?D54?D<5<4F =5>5E>4<<<F5 45=EF6<O 74 44 E5 
EN>5D47OF E < 7<E>64=<OF4 =4 74>>=>44F5?EF6>F>. 


